SFI/SFNIRZFIFER TR

QEHFL

o % % % % % % % %

L R S e

o

=
o

=

5

=

SFIR1605-4 5 3.175 30 49 10 50 39 34 4.5 8 4.5 | Méx1| 1x4 888 1525 33 022 1.56
SFIR1610-3 * 10 3.175 34 58 10 57 45 34 55 | 95 | 55 [Méxl| 1x3 716 1232 27 0.382 1.56
SFIR2005-4 20 5 BAIS| 34 57 11 51 45 40 55 [ 95 | 55 | Méxl| 1x4 999 1994 39 0.308 245
SFIR2505-4 5 3.175 40 63 11 51 51 46 55 [ 95 | 55 | M8xl| 1x4 1119 2581 45 0.96 3.83
SFIR2510-4 ® 10 4.762 46 72 12 85 58 52 6.5 11 6.5 | M8x1 | 1x4 1903 3695 51 0.802 3.81
SFIR3205-4 5 3.175 46 72 12 52 58 52 6.5 11 6.5 | M8x1| 1x4 1264 3402 52 0.471 6.29
SFIR3210-4 ? 10 6.35 54 88 15 90 70 62 9 14 85 | M8x1| 1x4 3092 6101 62 114 6.23
SFIR4005-4 5 3.175 56 90 15 55 2 64 9 14 8.5 | M8xl| 1x4 1407 4341 59 0.84 9.84
SFIR4010-4 ® 10 6.35 62 | 104 | 18 93 82 70 11 | 175 | 11 |[M8x1| 1x4 3480 7779 72 1.548 9.78
SFIR5010-4 50 10 6.35 72 | 114 | 18 93 92 82 11 | 175 | 11 |[M8x1| 1x4 3898 10325 83 1924 | 1533
SFIR6310-4 63 10 6.35 85 | 131 | 22 98 | 107 | 95 14 20 13 | M8x1| 1x4 4401 13611 95 2674 | 24.39
SFIR8010-4 80 10 6.35 105 | 150 | 22 98 | 127 | 115 | 14 20 13 [ M8xl| 1x4 4900 17366 109 3.892 | 3938
SFNIR1605-4 5 3.175 30 49 10 45 39 34 45 8 45 | Méx1| 1x4 1380 3052 33 0.22 1.56
SFNIR1610-3 * 10 3.175 34 58 10 57 45 34 55 | 95 | 55 [M6xl| 1x3 1103 2401 27 0.382 1.56
SFNIR2005-4 20 5) BSIT5! 34 57 11 51 45 40 55 [ 95 | 55 [ Méxl| 1x4 1551 3875 39 0.308 245
SFNIR2505-4 5 3.175 40 63 11 51 51 46 55 | 95 | 55 | M8x1| 1x4 1724 4903 45 0.96 3.83
SFNIR2510-4 ® 10 4.762 46 72 12 80 58 52 6.5 11 6.5 | M8x1 | 1x4 2954 7186 51 0.802 3.81
SFNIR3205-4 5 3.175 46 72 12 52 58 52 6.5 11 6.5 | M8x1 | 1x4 1922 6340 52 0.471 6.29
SFNIR3210-4 = 10 6.35 54 88 15 85 70 62 9 14 85 | M8x1| 1x4 4805 12209 62 114 6.23
SFNIR4005-4 5 3.175 56 920 15 | 855 [ 72 64 9 14 8.5 | M8x1| 1x4 2110 7988 59 0.84 9.84
SFNIR4010-4 0 10 6.35 62 | 104 | 18 88 82 70 11 | 175 | 11 | M8x1l| 1x4 5399 1550 2 1.548 9.78
SFNIR5010-4 50 10 6.35 72 | 114 | 18 88 92 82 11 | 175 | 11 | M8xl| 1x4 6004 19605 83 1.924 | 1533
SFNIR6310-4 63 10 6.35 85 | 131 | 22 93 | 107 | 95 14 20 13 | M8x1| 1x4 6719 25359 95 2674 | 24.39
SFNIR8010-4 80 10 6.35 105 | 150 | 22 93 | 127 | 115 | 14 20 13 [ M8x1| 1x4 7346 31953 109 3.892 | 3938

* BRI SHRTHIEERELAT

C-33



